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3. WHHET @128
(HRBEE (BEEE) W= 283 kg
(2)7vh—H k
O#AM N= 6 ES
@44 X - ik =M 10 [
@1AN:Y OHIFER (FRIZ & ZHEH) A= 78 = | 78 x10°° |u?
ORBEREEXBADIIRYERITIABOT U H—HIL +OBREHK Nt=| 3 ES
(B ERE& YBBELETORS He=| 642 =" [0.642 m
(4)REFT 2HEMD BHIARIL bR/ L= 681 Inm= 0,681 |m
(5)BRHTZHEMM SHI=RIL FRLA SHBELETOER Le=| 312 Imm (Lg=<L/2)=[0. 312 |m
4. BEEHE EEOMAUT 2B mIEEA L THH)
(1) JEtRAERE Kh=| 2.0 |
(2) HEtFISREEE Kv=Kh/2=| 1.0 \
(3) FEHRKFEIES Fh=Kh-W-9. 8= 5546. 8 IN
(4) BEtRGMEHER Fv=Kv-W-9. 8= 2773.4 IN
(8)7 v h—HL kD3l Rb= Hﬂgfifﬁyq = 1743.0 N
(6) 7o H—HIL FDEAKH Q=Fh/N=| 924.5 IN
(7T oh—HRIL MZEFT BHAE
D3R NE o =Rb/A=| 22.3 |MPa < ft=176MPa
QB AMIEHE 7 =0/A<| 1.9 IMPa< fs=101MPa
QBIELEAMERBICZTHBE fts'=1.4ft-1.67=| 227. 4 MPa
fefEL, fts' SFtO & Efts=fts', fts' >ftDE Efts=FtTHENDT fts=| 176.0 MPa
o= 2.3 |MPa < fts=| 176.0 MPa
(8)7vHh—IL FOWEIE
D7 v h—RL + DT % smiRER BT o n— \
@arvsy—+roES 7 180 lm= [ 0.180  |m
@RI FOEBRAREE =| 130 = | 0130 m
@FEIRTE Ta=| 5600 | N > Rb= | 1743 N
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